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Michal Szopinski
Solution to exam 2

max(x, 0)
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Michal Szopinski
Solution to exam 2

Inverter on demand




Michat Szopinski

Solution to exam 2 it v
nitial loop,

(2020—02—01) signal result ready RRDY

and wait for RUN signal
Flowchart

Wait for first number m WEN

0

Load 2”m into processed values

counter and division controller, load m
simultaneously clear former WEN
sum and result
A
L
Y
Withdraw WFN,
no-op

wait for input withdrawal

~
<Y
(@)

Wait for second number g0 WEN

0

Load g0 as operand b load g0
of multiplicator WEN
>
Y

Withdraw WFN,

wait for input withdrawal no-op

-
A
o

Y

Check if there are any numbers 1
left to read, otherwise
proceed to multiplication

counter zero

3

Wait for yi

o
=
5|
=4
=

Add or subtract load_yi
max(yi, 0) to the sum WEN
A
L
Y
Wait for input withdrawal no-op

)

Decrement processed values

decrement counteq
counter -

A

Check if multiplication finished 1 0
or if it was done to begin with

0

Standard implementation of the mult add
shift and add multiplication algorithm -
A'Y
L
Y
mult shift
A'Y
L
Y
Check if division finished 0 1
or if it was done to begin with, div_done

when it's done, go home

div_shift




-L& clock
1& run
1& wfn
1& nrdy
1& rrdy

1& counter_zero
1& mult_done

1& mult_Isb

1& div_done

1& load_m

1& load_q0

1& load_yi

1& decrement_counter
1& mult_add

1& mult_shift

1§ div_shift

0 ns
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200 ns ‘250 ns ‘300 ns
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m clock
85 x[7:0]
1'& run
1& wfn
].'& nrdy
&5 vI31:0]
].'& rrdy
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